
SAP ABAP table ALVIT {ALV Item for Stock Overview of Handling Units}

ALVIT

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

VEGR1 [CHAR (5)]

VEGR2 [CHAR (5)]

VEGR3 [CHAR (5)]

VEGR4 [CHAR (5)]

VEGR5 [CHAR (5)]

VHILM [CHAR (18)]

MEABM [UNIT (3)]

MEINS [UNIT (3)]

VHART [CHAR (4)]

MAGRV [CHAR (4)]

LADEH [UNIT (3)]

FAREH [UNIT (3)]

EHENT [UNIT (3)]

LANDT [CHAR (3)]

LANDF [CHAR (3)]

LGNUM [CHAR (3)]

MANDT [CLNT (3)]

VENUM [CHAR (10)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

VEMEH [UNIT (3)]

ALTME [UNIT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

SERAIL [CHAR (4)]

PSTYV [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ALVIT-MATNR = MARA-MATNR 

0..N

{0,1}

 ALVIT-VHILM = MARA-MATNR 0..N

{0,1}

T000

MANDT [CLNT (3)]
 ALVIT-MANDT = T000-MANDT 

0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ALVIT-LGORT = T001L-LGORT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ALVIT-WERKS = T001W-WERKS 

0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ALVIT-LANDF = T005-LAND1 

0..N

{0,1}

 ALVIT-LANDT = T005-LAND1 

0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ALVIT-ALTME = T006-MSEHI 

0..N

0..N
 ALVIT-EHENT = T006-MSEHI 

0..N
{0,1}  ALVIT-FAREH = T006-MSEHI 

0..N

{0,1}
 ALVIT-GEWEI = T006-MSEHI 

0..N

{0,1}

 ALVIT-LADEH = T006-MSEHI 0..N

{0,1}
 ALVIT-MEABM = T006-MSEHI 

0..N

{0,1}
 ALVIT-MEINS = T006-MSEHI 

0..N

{0,1}
 ALVIT-VEMEH = T006-MSEHI 

0..N

{0,1}  ALVIT-VOLEH = T006-MSEHI 

0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 ALVIT-LGNUM = T300-LGNUM 

0..N

1

T377P

MANDT [CLNT (3)]

SERAIL [CHAR (4)]

 ALVIT-SERAIL = T377P-SERAIL 

0..N

0..N

TVE1

MANDT [CLNT (3)]

VEGR1 [CHAR (5)]

 ALVIT-VEGR1 = TVE1-VEGR1 

0..N
1

TVE2

MANDT [CLNT (3)]

VEGR2 [CHAR (5)] ALVIT-VEGR2 = TVE2-VEGR2 
0..N

1

TVE3

MANDT [CLNT (3)]

VEGR3 [CHAR (5)]

 ALVIT-VEGR3 = TVE3-VEGR3 

0..N

1

TVE4

MANDT [CLNT (3)]

VEGR4 [CHAR (5)]

 ALVIT-VEGR4 = TVE4-VEGR4 

0..N

1

TVE5

MANDT [CLNT (3)]

VEGR5 [CHAR (5)]

 ALVIT-VEGR5 = TVE5-VEGR5 

0..N

1

TVEGR

MANDT [CLNT (3)]

MAGRV [CHAR (4)]

 ALVIT-MAGRV = TVEGR-MAGRV 

0..N

{0,1}

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 ALVIT-LSTEL = TVLA-LSTEL 

0..N

{0,1}

TVPT

MANDT [CLNT (3)]

PSTYV [CHAR (4)]

 ALVIT-PSTYV = TVPT-PSTYV 

0..N

0..N

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 ALVIT-VSTEL = TVST-VSTEL 

0..N

{0,1}

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 ALVIT-VHART = TVTY-TRATY 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ALVIT-VBELN = VBUK-VBELN 

0..N

{0,1}

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 ALVIT-POSNR = VBUP-POSNR 

0..N

{0,1}

VEKP

MANDT [CLNT (3)]

VENUM [CHAR (10)]

 ALVIT-VENUM = VEKP-VENUM 

0..N

1


